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Using Trig Ratios Continued Name

AABC ~ APQR. Q ¢? . ABCD is a parallelogram. What is the

a If sin £A = 0.8, what is sin £P? B area of ABCD?
b If BC = 8, QR = 12, and PR = 9, why
is tan LA = tan £P?
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3. How much longer is CD than BE? C 17/ , In AFGH, 4G is a right angle and tan £F = ;i-. |
B a Find sin ZF.. b Find cos LH‘
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A Find 6, and 6,.

5 The equation of a line is y = 5x + 2. What is the angle between

the line and the x-axis?
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"’, PQisa tangent to circles M and N,
whose radii are 6 and 3 respectively.
Find mZPOM.

bx = Rx+7F o
=7

v =9

8 Starting at point A on Skull’s treasure map,
face due east. Rotate 45° counterclockwise.

Now take 20 paces tc arrive at point B. Rotate
anather 45° counterclockwise and take 50
paces to point C. The buried treasure is
located at the midpoint of AC. If you start
at point A, how many degrees should you
rotete counterclockwise, and then how many
paces should you take, to arrive directly
at the point where the treasure is buried?
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